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s COMMON HALF YEARLY EXAMINATION - 2024 )‘
% Standard IX RegNo,| |
MATHEMATICS
Time : 3.00 hrs

Part - | - Marks : 100
l. Choose the correct answer: 14x1=14,
1. Which of the following is true?

a) A-B=AnB b) A-B=B-A ¢)(AuB)=A'UB’ d) (AnBY =A'UB’ -
2. ThesetA={x/xecZ,-2<x<=-1}isa |

a) singletonset ' b) powerset  c) nullset . d) subset
3. Simplify: 27 + 12= , .
a) J39 b) 58 ©) 543 - ) 35 |
4. Which one of the following is an wrahonalnumber? | |
-mm']mf <@%,'M :
5. Zeros of (2x - 3) s ) ‘, ' i
a% 3 c)%-' R ."d)%
6. If x + 3 is a factor of p(x), then the remainde‘r'is. i l
a) 3 -3 9pd - AP
7. 1£(2,3) |sasolut|on of llnear.equatlon 3x+2y =k, then the.value ofkis
a) 12 _ b) 6 | c) ,0 : .d) 13- _
8. The lntenor angle made by the 5|de ina parallelogram s 90° then the parallelogram .
isa.
é)_' rhombus b) rectangle‘ ¢ trapezium | d) kite'

9, Angle inscribed in a semicircle is.a:

a) ’acutéangle‘ b) obtuse angle b) right angle d) straightangle7.
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2 o IX Maths
10. The pointwhose ordinate is 4 and which lies on the y-axis is __ |
a) (4,0) . b) (14) c) (4.2) d) (04)
11. The distance between the two points (_ Ji,s) and origin is
a) 1 b) 5 945 946
12. Iftan0 = cot 37°, then the value of 0 is '_ | 4
‘a) 37° by 53 . c)90° g 10
- 13. The valueoftan§0° is ‘ o
a) 1 ) Vg o -9 . w90
14. If 25in = /3 , then the valug of 0is- Y
a) 90° b) 30° 45 3l d) 60
_ o < v Park= )z I Cogholias eft I
Il. Answer any 10 quAestions. (Q.No.28 is compulsory) 10x2=20

15 IfA={6,7,8,9}, B={8,10,12}, fi findA-BandB-A -
16. ThesetA={b,ef g} ahd B= {a c.e,g,h}, venfy the commutatrve property for umon

i Rationalisethe denominatar: 1—+575'

18. Simplify : Y63 - V775 4428 _ |

19, If p(x) = 4x3~6x% + 3x - 14, then find the valué ofp(=1) and p(0) .

20. Expand using identity : (3a ~4b)3 |

21, Faclorise : 2+72-17t

22. Achordis 12 cm away from the centre of the clrcle of radius 15 cm. Flnd the
"length of the chord.

23. The angles of a triangle are in the ratio 1:2:3. Fmd the measure of each angie of
the triangle.
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24,

25,

26.

27.
28.

29,
30.

. the people had atleast one jce cream. Then how
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~2), (5,1, (2,4) are collinezar?
Find the centroid of the triangle whose vertic

Evaluate : sin245 + cos245

; IX Maths
Check whether the points (7

€8 e (<5,~5), (1,4} znics (~4.~7;

¥

If tan A = %  then find the value of sin A

Find the quotient and remainder using synthetic division rme

thod
(}°+x2-7x~3) = (x - 3)

‘Part -1l

Answer any 10 questions. (Q.No.42 is compulsory) 10%5 =50
Verify using Venn diagram : A— (B A C)=(A-B)u(A-Cj
Ina party of 60.people, 35 had vanilia ice cream, 30 had chocolate ice cream, Al

many of them had
) Both vanilia and chocolate ice cream

i) Onlyvanillaice cream

i) Onily chocolate ice cream

31

35;°
36.

I x =5 +2, then find the value of x2 5L
32.
33,

xz &
Arrange in ascending order : ?/5 V4,43 _ T
Factorise : x3—5x2_ 2y 4 24 ‘. NG .
Determine the valye of m,ifx +3 |s a factor of x3
Solve: 13x + 1y =70, 11x+ 13y = 74

IFPQRS is a cyclic quadrilateral in
ZPRQ.

= 3x%—mx+24

which ZPSR =700 ang ZQPR=40°, then find
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X Maths

37. Inaquadrilateral ABCD, ZA= 72°and £C is supplementary of 2A. The othertwo
' fall the angles.

4 aﬁgles are 2x—10 and x+4. Find the value of X and the _m'easu_res 0
3. Show that the pointsA(4,-3), B3 1), C(36) and Di-4:2) ke T order form the

vertices of a parallelogram.
e whose vertices are

39. Find the length of median fhroughAofa triang!
A(-1,3), B(1,~1) and C(5,1)

' o inA=3cosA

40. If3 cotA= 2, then find the value of %—%gg%gﬂ

50 tan30° tan45° tan60° tan75°

41. Find tHe value of tan1 | - |
45 [fA={x: X 7 —2<xs4}, B={xixeW,x £5),C={4-1 ,40'.2.'3;4.'6} verify
Au(BnC)=(Aqum(Aué)_ ‘ N -
' Par't.'-i\'f .
. 2x8=16

IV. Answer all the questibné, s :
43, 2) Constructa AABC withAB=5cm, 2B= 100°and BC =6 cm. Also locate its
, circumcenter, draw circumcircle. ' = At :

(OR)

-

b) Draw and locate the centroid of the triangle ABC which.is right angh_ad;atA‘,A

' AB=4cmandAC =3 cm.
44. a). Solve: g’rap,hicallj_y
x+;/ =5,2x—y=4
P (OR)
b) Drawthegraph: y=4x=3
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